Exam Name : Social Work HNGU

Total Questions : 100
Description
Q.1 Which year the Integrated Child Development Services (ICDS) was launched?

sl oY As(Ad wlo [As1d Ad1) (ICDS) 2 5 1M wLd] &dl?

Question ID:

Marks 1 10093013

No Options Details Correct Option

1 | 26939 ulseloR 2, 1973

2 | 27304 wlselelR 2, 1974

3 | 27669 wlseloR 2, 1975 v

4 | 28035 v{|52lHR 2, 1976

Q.2 What kind of services render by the Social Welfare Organizations in India?

5l UsIRefl MR AHL[FS SRUIRL AR IR A HIUdIH 41D B?)

Question ID:

Marks 1 10093014

No Options Details Correct Option

1 | Relief and rehabilitation activities. Asd ¥l YeldYet Uil

2 | Promote self-sufficiency of divyangjans. (e 2198 lot | W LH[AMd LA Ul lSet wlUg]

3 | Providing shelter homes to the needy and e [RULAHE Ao IR0 dlSlaA 11U Sl Ul &

poor people.
4 | Above all. GURAS dHIH v
Q.3 Which among the following is the Principle of Social Justice?
s\ eflAstMief] AMLSs AL Rgid 87)

Question ID:

Marks 1 10093015

No Options Details Correct Option

1 | Diversity of represent different communities in %16 U IRMIHL [d[dd YHelAleAl Uld[ed[ticdei] |
public institutions.

2 | Participation of people to make a voice of their dHeil [«1Q1U=1] Ad|% Golddl HI2 Elsledl Mlalle
decision.

3 | Equity is the principle that people should have [si¥&ldl ¥ [Hegld & & @lslel As0 Ydlei] AUl
the same opportunities to succeed.

4 | Above all. GULSd dHIH v




Q4 Which among the following that Social Legislations play significantly role in India?

s {1 Aot M2l AHLCS SIUEL HIRAHT HecayRl eyHs] ¢iod B2

Question ID:
Marks 1 10093016
No Options Details Correct Option
1 | Social Reform ALHLCsS YHRWLL
2 | Social Welfare UHL[S sRULBL
3 | Social Development and Social Change. AHLCSS [As1Y Aol HIHLS UlRddel
4 | Above all. GURLS dHIH v
Q.5 Where one can find promotion and creating policies of weaker sections in the Constitution of India?
suiell elldstl GigRRIUT Altionl 4dlletl Yil2lst A ofl (2] Hofl 2137)
Question ID:
Marks 1 10093017
No Options Details Correct Option
1 | The Preamble of the Constitution of India. ALclell W 1RQLeA] Ydldeil
2 | Directive Principles of State Policies. A=l el[dudledl [«1eels [Megldl
3 | BothAandB 0ol A B v
4 | Only option (A) HIA [dsey (A)
Q.6 Which of the following is true related to research objective?
53 ol At 1Hief] At G2U A1 Aoildd B?
Question ID:
Marks 1 10093018
No Options Details Correct Option
1 | Time-constrained AHY HYL[ed
2 | Measurable HIUL sl dg)
3 | Realistic dldlds
4 | Above all. GURLSd dHIH v
Q.7 Which among the following is not the Social Work Approach?
5] W s o1 Aet Mol UHICES sl 4 [C101H otefl?
Question ID:
Marks 1 10093019
No Options Details Correct Option
1 | Empowerment Orientation approach. UAULSASL WL[R¥{221e 1[I
2 | Bagging approach (Ul HIdLe o] A1 v
3 | Preventive approach [elc1Rs u[e1H
4 | Rehabilitative approach Yeid Yol 3 [¢HIAH




Q.8 Which among the following is not the Principle of Social Case Work?

s {1 Aol Hie]] IHLCrs U (Scddld SRl Riegicl «1el?

Question ID:
Marks 1 10093020
No Options Details Correct Option
1 | Principle of non-judgmental attitude. [«1Q1Y [cleileil dERlet] [Hegld
2 | Principle of promise client to solve the issue.  Hglol G5l HI2 W [Udel dUedat] [Hegld v
3 | Principle of purposeful expression of feelings.  GIRLIAM 1Al SqyBL A [ [Sdlell [Megld
4 | Principle of client’s self-determination. AleSell el-[t 1] [Megld
Q.9 Which of the following is not the method of Social Work Profession?
53 ofl At el AL 51 cudu el U (d el ?
Question ID:
Marks 1 10093021
No Options Details Correct Option
1 | Social Welfare Administration. UHI SRUIQL delde
2 | Social Pathology AHL[ess AL [cStled v
3 | Community Organization. AHELUS HIU6el
4 | Social Action Al Lls [sUl
Q.10 Who has written the following book of ‘Research Methods’?
S8l bt Ueg (Bl Yrds duy ?
Question ID:
Marks 1 10093022
No Options Details Correct Option
1 | D.K. Lal sl. 5.dl4
2 | Joseph Thomas oslds UlH
3 | Ram Ahuja UH A 1%l v
4 | Kothari slolRl




Q.11

Which among the following is true in the context of Group Work Models?

53 o1 et i8] ogR 51 HISEUoAL el UR] B?

Question ID:
Marks 1 10093023
No Options Details Correct Option
1 | The Remedial model, Worker known as GUARILHS HISE, Yo A2’ dS wlNULdL §
‘Change Agent’.
2 | The Social goals model, the Worker known as  ULHL[%S 1Y HISE, SIS el "UH' dRS Lo
‘Enabler’.
3 | The Reciprocal model, the Worker known as ~ UR™W[RS HISE, HEAR]' dRLS AHlAuldl SIS
‘Mediator’.
4 | Above all. GURLSd dHIH v
Q.12 Which among the following is a variable of research?
53 o{[ At 4] ANtelo] U B?
Question ID:
Marks 1 10093024
No Options Details Correct Option
1 | Dependent variable W |[8ld Y4
2 | Independent variable dd= U4
3 | Discrete variable WG Yd
4 | Above all. GURAS dHIH v
Q.13 Who among the following propounded the Psychoanalytical Theory?
5181 {1 At M efl A1 L[] s (u3] Yud] edl
Question ID:
Marks 1 10093025
No Options Details Correct Option
1 | Mary Richmond Wl RYHIeS
2 | Felix Biestek slasy [61es
3 | Freud 5195 v
4 | Hamilton &[HeRe




Q.14 Which among the following is not true in the context of Community Organization and Community
Development?
53 ofl et (2]l UIHELRIS A216et WA YY1 [A51Ae1L Aee{Hi A1y «1efl?
Question ID:
Marks 1 10093026
No Options Details Correct Option
1 | Community organization emphasizes the ALY ELRUS U6 ULSARML U MR Y5 8 2RUIR Al
processes while community development
emphasizes the goals.
2 | Community organization is not time bound ALYELRUS U6l AHYG, ] 2R YY1 [dS
while Community development is time bound.
3 | Community organization emphasizes only AHELRUS A28 HIA dldcd [ASIH U MR HS & v
leadership development while Community
development mostly depends on government
agencies.
4 | People’s participation is important in AHeLUS HIU6eH] dlslell e R] HecdyRl 8
Community organization while in Community
development people’s development is
important.
Q.15 Give the full form of ‘PARAKH’ which is the assessment body for Standard for Board Exams in National
Education Policy-2020.
UTIY (218181 ofl(d-2020 Hi 6I1Se{l uletluil HiSetl WL HIR HU{Sel 53] el 'PARAKH' o Y8l 2y
Question ID:
Marks 1 10093027
No Options Details Correct Option
1 | Performance Assessment, Revision and ddlel [dsly HI2 Stlete Uelel YRS, Yelld
Analysis of Knowledge for Holistic
Development.
2 | Performance Assessment, Research and AdALEl [ds1Y HIe Sllele] Uelled HRULSeL, HllH:
Analysis of Knowledge for Holistic
Development. ‘ ‘
3 | Performance Assessment, Review and ddAlel [dslY HIE Stlete Ueled LS, AH e v
Analysis of Knowledge for Holistic
Development. ‘ ‘
4 | Performance Assessment, Rewrite and ddlel [dsly HIE Stlets Uelel YRULSe, Yel:QU
Analysis of Knowledge for Holistic
Development.
Q.16 Which among the following is not a part of qualitative data?
s\ o1 Aet M el oL S S2ledl #I2L oAef]?
Question ID:
Marks 1 10093028
No Options Details Correct Option
1 | Experiences RIS
2 | Motivation YRR
3 | Beliefs HloAcl 1]
4 | Percentages 2sldRRl v




Q.17 Who proposed the ‘Situation Approach or Contingency Theory’ in the context of leadership?

S1 Aqcdel AeeiHi UR R 1 (C1o1M el WISRHS Riegid' YrdLldd sil?

Question ID:
Marks 1 10093029
No Options Details Correct Option
1 | Fred Fiedler 55 [§56R v
2 | Treckar H. B. 25 WY, uil.
3 | Douglas sS4l
4 | Kurt Lewin se dlde
Q.18 Which year ‘Right of Persons with Disabilities Act’ came into exist?
sul Y 282 w15 e (del (SAM(G2) N s’ i Redcani w1cl?)
Question ID:
Marks 1 10093030
No Options Details Correct Option
1 | 2013 2013
2 | 2014 2014
3 | 2015 2015
4 | 2016 2016 v
Q.19 A group is made up of individuals of relatively equal status with whom the individuals interact frequently is
called as ----------------—-- group.
A5 e | U 5dilef wAg SlU B BHeAl U1e A3 AIRAIR AUS 53 D WA UHIRIH] UM Lot £220%] LAl ¢
Question ID:
Marks 1 10093031
No Options Details Correct Option
1 | Secondary Group BRI EETON
2 | Primary Group vldHs e
3 | Peer Group USHILL el / vls YUl v
4 | Allabove. GURell oyl %




Q.20 Under which among the following Act, the Juvenile Justice Boards were formed by the State
Governments?
5L 51Ul 8601 oflAeiHie] A U1 IR A8 % [Red Wl Sefl UstL ScAIM w1d] &cfl?
Question ID:
Marks 1 10093032
No Options Details Correct Option
1 | Juvenile Justice (Care and Protection of %deiled % [RY (UL Slell A0 Ael YYBL)
Children) Act, 2013.
2 | Juvenile Justice (Care and Protection of %deileyd % [RY (WL Slell A1 Al YY)
Children) Act, 2014.
3 | Juvenile Justice (Care and Protection of %deileyd % [RY (UL Slell A0 Al YL v
Children) Act, 2015.
4 | Juvenile Justice (Care and Protection of %deileyd % [RY (UL Slell A0 Al L)
Children) Act, 2016.

Q.21 Which among following is true in the context of Corporate Social Responsibility is mentioned in the
Section 135 of the Companies Act, 20137
53 5Usfl w(d(cAUH, 2013{l 544 13541 GealUd SIURe UIML[yS wdloielotl AeetHi olAetHie]] A1 B?
Question ID:
Marks 1 10093033
No Options Details Correct Option
1 | Every company, which either has a net worth €5 SUell 5 %=l UL . 500 $USeil dedel ¢l =
of Rs 500 crore or a turnover of Rs 1,000 crore
or net profit of Rs 5 crore.
2 | Every company, private limited or public €5 sUell, ulede [d[Hes wedl uleds [a[Hes, v
limited, which either has a net worth of Rs 500
crore or a turnover of Rs 1,000 crore or net
profit of Rs 5 crore.
3 | Every private limited or public limited, which ~ ¢3$ Ul8de [e[Hes Adl uleds [d[Hes, % sl ¢
either turnover of Rs 1,000 crore or net profit
of Rs 5 crore.
4 | Every company, public limited, which either &35 sUe|, ulogs [@[yes, oeil «ledel . 500 $2
has a net worth of Rs 500 crore or a turnover
of Rs 1,000 crore or net profit of Rs 5 crore.
Q.22 Which among the following is true in the context of Factory Act, 19487
53 ol A1 ief] 3523 W52, 1948411 AeeiHi AR B?
Question ID:
Marks 1 10093034
No Options Details Correct Option
1 | Créches, if employing more than 30 women.  &ISIULER, %1 30 &l dy HISE AL AR HIE
2 | Shelters, rest rooms and lunch rooms, if VYR [eA], WIRAUH VLS Wl €Y 1Y, 2] 150 & ¢
employing over 150 workers.
3 | Welfare Officer, if employing 500 or more SRR W [usIRI, %1 500 5 dell dy sIHER]A %y
workers.
4 | Above all. GULSd dHIH v




Q.23 Under which article of fundamental right provide guarantee of Divyang person to file petition in the
Supreme Court in India when his/her right is violated?

SUL HOGd A (E 51011 Aef20¢ S601 (€l c(Sdetl w[Es1Re) Gedelst Al AR MM M sleHi (22

Question ID:
Marks 1 10093035
No Options Details Correct Option
1 | Article 23 564 3
2 | Article 24 5G4 RY
3 | Article 24 564 Y
4 | Article 32 564 3 v
Q.24 The main Objectives of Administration are:
aeldedl Yu Gl 8
Question ID:
Marks 1 10093036
No Options Details Correct Option
1 | Policies are suitably Amended. ol |[dIH] A1 HHIRL SAML 21d &
2 | Programme are Formulated and Budget. SIYsH] eSAIHL A 1d O Wel 622 tfedldd[H] Alc
3 | Finance Personnel Selection procedures are  =llRLLS[A SHUR [l UMl UlsAL] teladld
made.
4 | Above all. GULSd dHIH v
Q.25 What is the origin of passing the Trade Union Act in India?
58 Wltd HIRAHI 25 Y[e1det W52 UAR Sdle] 5121 B?
Question ID:
Marks 1 10093037
No Options Details Correct Option
1 | Historic Buckingham Mills Case of 1920. 1920711 w[dellds ul[saAsIH [Hed 5Y v
2 | Historic Buckingham Mills Case of 1930. 193071l A[dellds WsasiH [Hed 54
3 | Historic Buckingham Mills Case of 1940. 194071l w[dellds ul[saAsIH [Hed 5Y
4 | Historic Buckingham Mills Case of 1950. 195041] [deLlUs WsASIH [HeH 54




Q.26 What is true in the context of mixed method research?

58 (18 Ueg (dl ielltetell AeHi UR] 8?2

Question ID:
Marks 1 10093038
No Options Details Correct Option
1 | It collects non-numerical data. d [el-HudlcHs Sel w1s[Ad 52 8
2 | Itis used in health, behavioral and social dell GUALL IR, ddel el YIHL[SS [AStleH]
sciences.
3 | It collects numerical data. d duleHs Hiledl xslAd s &
4 | Above all. GURASd dHIH v
Q.27 The Objective of Age Care India is:
A 52 plosAUlell G2l &
Question ID:
Marks 1 10093039
No Options Details Correct Option
1 | Providing the Educational services. latfRLs Ad il YRl uisdl
2 | To provide Residential and Institutional REBLLS Vol YULS[Y Al YRl ulsdl
services.
3 | To provide Cultural and Spiritual services. AURS[AS wel WIRILHS AdlM] Y] ylsdl
4 | Above all. GURLSc dHIH v
Q.28 A disorder where there is a disconnect between actual life circumstances and the person's state of mind or

feeling is known as

s Ad) [As51R BHI dld[ds Bdetef]l URReU[d¥) W cl(Scdoil Heisfl [Ra1ld wWedl @1l 9 516 Aoid o

Question ID:
Marks 1 10093040
No Options Details Correct Option
1 | Neurotic disorder 2[5 [SUMISR
2 | Somatoform disorder dldelsly syl
3 | Mood disorder YS [SHAISR v
4 | Stress disorder U [SHUIRR




Q.29 When was the Protection of Women from Domestic Violence Act came into exist?

SUR 839 (190l Hlsa 1ol R&1QIA] SIUE) WMUAH [)?)

Question ID:
Marks 1 10093041
No Options Details Correct Option
1 | 2003 2003
2 | 2004 2004
3 | 2005 2005 v
4 | 2006 2006
Q.30 Give the full form of NDPS Act:
NDPS $l¥¢la} 1{3[ Y W)
Question ID:
Marks 1 10093042
No Options Details Correct Option
1 | Narcotic Drugs and Psychosomatic ollSsl[2s SO ol UWUSIUIH[RS Yol vise
Substances Act.
2 | Narcotic Drugs and Psychological Substances cllSl[25 SO wlel UIASIAL[SE YRy vls2
Act.
3 | Narcotic Drugs and Psychotropic Substances  cll5l[25 S el UIUSI2L[US YR vis2 v
Act.
4 | None of the above. GURLsdHI] 519 el
Q.31 Which among the following is not true in the case of objective of Industrial Disputes Act?
53] ol Aet 1 ief] ENELS (Alle EAAHAL Gl [SRUMI U] «12l?)
Question ID:
Marks 1 10093043
No Options Details Correct Option
1 | To secure industrial harmony by providing Hie ulsal YRl ulslel AHlallors ddlledl Y eld :
procedure for the investigation and settlement
of industrial disputes by negotiations.
2 | To secure industrial peace by providing AUl del dlelellel glRLy1albLs [daleledl Yl
machinery for the investigation and settlement
of industrial disputes by negotiations.
3 | As above mentioned, both are true. GUR R Y, 0ol YIUL 8 v
4 | None of the above GURLsdH1] 518 el




Q.32 What is the meaning of ‘Mitigation’ in the context of Disaster?

B [U[clotl AeeiH QMo i) 242l 9] B?

Question ID:
Marks 1 10093044
No Options Details Correct Option
1 | It means measures aimed at impact or effects  dell A2 A & & W [U[d WYl HAYLS A [U[del]
of a disaster or threatening disaster situation.
2 | It means measures aimed at reducing the risk. deil 342 3 & § WH el2lSsal Hiell UdlEl
3 | Both the above statements are true. GURLSd Gl [delel YIAL v
4 | Both the above statements are false. GURsd 0ld [deed]l Wlel &
Q.33 Which among the following is the type of hypothesis?
s oflAet Hie]l Ydu Qe Usik 82
Question ID:
Marks 1 10093045
No Options Details Correct Option
1 | Scientific hypothesis dstilels yduRaLl
2 | Statistical hypothesis Y E ORVEETRIET
3 | Working hypothesis PIRETRIKECIRIE
4 | Above all. GURLS dHIH v
Q.34 Payment of Gratuity Act, 1972 is applicable to employees of?
5| sHUR1A Wer )5 A2Y2E) A 52, 1972 619] US B?
Question ID:
Marks 1 10093046
No Options Details Correct Option
1 | Employees of Oilfield. dd sUei[letl SHULRIAMI
2 | Employees of Plantation. G |2 Qe ot /L[ [ oA L SHU R[]
3 | Employees of Mines. WIRLeLL SHAURIML
4 | Above all. GURAS dHIH v




Q.35 Which UN International law marks as the environmental movement in the world?

53] UN W{dA¥1Y s1U€) [Aaui vudiaely aanda d3 Rifad 52 82

Question ID:
Marks 1 10093047
No Options Details Correct Option
1 | UN Conference on human environment in RISEIH (cllSet) HI Hleld YA UR Yule] Sl v
Stockholm (Sweden).
2 | World summit on sustainable development LS LAUMIAHL L[ 2513 [dslY U [dd Ul
held in Johannesburg.
3 | The Rio Declaration on Environment and UN GRLUYIAREL Al [dsiy UR [RUL €lNBLL
Development by UN.
4 | Above all. GURUSd dHIH
Q.36 Which among the following component is the part of Social Work Research?
sl o{let11iel] tes MMLsSs s AAdetedl ¢ B2
Question ID:
Marks 1 10093048
No Options Details Correct Option
1 | By using evidence-based research to inform  R[0{[, AyH[elcll ¥l Heild Bl HIHL[S MU
policy and practice to solve the social
problems such as poverty, inequality, and
discrimination.
2 | Social Worker can work towards creating a UHLCSS SIS dY U] 3ol YH Lot YHI% Welld]
more just and equitable society. ‘
3 | Social Worker works towards promoting social dIHL[%S SI1AS UHLSS U Ul lSel 24 1Udl
justice and improving the lives of individuals
and communities.
4 | Above all. GURASd dHIH v
Q.37 The meaning of ‘Capacity Building’ as mentioned in the National Disaster Management Act, 2005 is?
AT WU cud@ et 2 (E(AAH, 20054 Ged(Wd el [FAHIRL o) w4l 9] B?)
Question ID:
Marks 1 10093049
No Options Details Correct Option
1 | Identification of existing resources. Sleell A ltetled] lou
2 | Organization and training of personnel and VY [Audlell MASRS AU LGl Hie SHURIALA R
coordination of such training for effective
management of disasters.
3 | Acquiring or creating resources identified. ALl ULH Sl 4-d | edlddlei] Al
4 | Above all. GURUSd dHIH v




Q.38 What is the Theoretical basis for Social Work practice?

UMHLCss s1d velell Aegilds wldR gf B?

Question ID:
Marks 1 10093050
No Options Details Correct Option
1 | Social learning theory provides Social Worker AIHL[%S [21&QL [Hegld AUIHLIYS SIUS AL S
with a useful framework for understanding
client.
2 | Behaviourism theory provides Social Worker  ddeldle [Hegld UML%S SIS ALSS AH¥A
with a useful framework for understanding
client.
3 | Both above statements are true. GURLSd Wl [Adeed] AL Y v
4 | Both above statements are false. GURsd 0le [dest]l Wlel &
Q.39 The true meaning of Universal Human Rights is:
ULA[ES Histd A [ES1R1A) HIRIL A D)
Question ID:
Marks 1 10093051
No Options Details Correct Option
1 | Human rights are inherent to us all, regardless Hlsicl 34[US1] W IURLL ot HIe &% 8, AU
of nationality, sex, national or ethnic origin,
color, religion, language, or any other status.
2 | Human rights range from the most Hled A [usR] ALl Hanejdel ] 48« B)deieil ui[y
fundamental: the right to life such as the rights
to food, education, work, health, and liberty.
3 | Human rights are not granted by any state. Hleld (USR] SIOURL UM GLRL AU IHL lclc
4 | All above. GURAUSd dHIH v
Q.40 What is Sampling technique talks about?
Ay (da) 2s[els el (A did 52 87
Question ID:
Marks 1 10093052
No Options Details Correct Option
1 | A Sample is representing of whole Universe. 3§ aiell YHA Gl&LISe] Uld[eiticad 53 &
2 | A Single Unit of study is referred to as an WY [Yell A S W SsHe ddledl ded d]S 2lnud
element of Population.
3 | Both above statements are true. GURSd 0ol [desd]l HIAL O v
4 | Both above statements are false. GURUsd vlel [deet] W2l &




Q.41 Which among the following is agency of Social Control?

56 oAt 1H i) AHLCsS (AAARL o] B?

Question ID:
Marks 1 10093053
No Options Details Correct Option
1 | The State AU
2 | Educational Institutions et(RLs vl
3 | The Press R
4 | Allabove GURASd dHIH v
Q.42 Which among the following is Social Capital?
s34 «{[ A= 11l AMLls YSl B2
Question ID:
Marks 1 10093054
No Options Details Correct Option
1 | Linking CIEEVEIREN
2 | Bonding L[S 7 L [HAAL
3 | Bridging CNREWATRE]
4 | Above all GURASd dHIH v
Q.43 Who gave the following statement, ‘Conscientization aims to raise critical consciousness, which is the

ability to reflect on one's experiences and recognize the ways in which they are influenced by broader

social structures.’

o{1Q w4 [aelet 518 M1, Udell5AeA] G2Y [AAYelldS Adell ddlRdlell B, % A [Sclsil o™l U [c

Question ID:
Marks 1 10093055
No Options Details Correct Option
1 | Mary Richmond UL RYHS
2 | Paulo Reglus Neves Freire U134l gy «1dy sl v
3 | Saul Alinsky 1G4 w[ges]
4 | Martin Luther King Jr. Hileo 2R [531 %leldR




Q.44 Which among the following is true in the context of registration of agencies in India?
53 61 1M1 Weye{ldled] oflteleil Aeeti «{lAstimiell AR B2
Question ID:
Marks 1 10093056
No Options Details Correct Option
1 Foreign Contribution (Regulation) Act, 2010 [aell Aldleled ([«AdHel) A [e 4144, 2010
2 | Societies Registration Act, 1860 ALY ALURL] w4 [u[1yH, 1860
3 | Income Tax Act, 1961 vl sdR A [H[-14H, 1961
4 | Above all GURUSd dHIH v
Q.45 With whom the ‘Poshan Gyan’ is partnership by the NITI Aayog?
Slell U1 ofl[dd MR GIR1UINGL st lel] &0 87
Question ID:
Marks 1 10093057
No Options Details Correct Option
1 | Centre for Social and Behaviour Change Ao §12 Ullud wos [&[dyR Yooy
2 | Billand Melinda Gates Foundation (046 oA H[deS] 2Y §51GeSLlet
3 | Ashoka University w21 Y[ea (el
4 | Above all GURUSd dHIH v
Q.46 Which among the following is Statutory Body of the Indian Constitution?
53 ofl At el etlRclly witRWle] Quils 2i01 §?
Question ID:
Marks 1 10093058
No Options Details Correct Option
1 | National Commission for Scheduled Tribes AR vy [Ad =tonild A 111
2 | Election Commission of India Mlcled Yerll Uy
3 | Comptroller and Auditor General of India MRl [AdAAS el HslduLs
4 | All above. GURASd dHIH v




Q.47 Which among the following is not Function of NITI Aayog?

53 o{1Ast 18] ofl(cl w10Vl S1 o122

Question ID:
Marks 1 10093059
No Options Details Correct Option
1 | Itimplements the policies and programs for d [dsld Hle ellldudl e sIASHIAL 1HE 52 8 v
development.
2 | NITI Aayog facilitates capacity building and (elllcl IR AL 2ol [SRAEIR] A Ul [«1H
knowledge sharing among states and
stakeholders.
3 | It conducts data analysis, research, and d Sel (AN, Hellted el Y1l 1L [Rd 1Y
evidence-based studies.
4 | NITI Aayog promotes international cooperation eilld 31121 WLARAB L Y&SULIL 1ol HILLEIR]eA
and partnerships.
Q.48 Who proposed the ‘Labeling Theory’ of Aging Persons?
519l qeg caulseiddletl Qe (E1 (21U «ll Udld Hsil?
Question ID:
Marks 1 10093060
No Options Details Correct Option
1 | Havighurst, Neugarten and Tobin (1958) &ldee, «Jlleel ¥lel 2lludel (1eUl)
2 | Cumming and Henry (1961) S[HIL A SR (1¢Lq)
3 | Bengston (1973) oIl (1¢93) v
4 | Cowgill and Holmes (1972) 51G[3le wel SR (1e9R)
Q.49 Which are the three key dimensions of the Circumflex Model of Marital and Family Systems, developed by
Olson and his colleagues?
w\eel el AUt AleflelR) g1 [AsAlddiMi w1ddl ddlfés wa 53 Ulleflulotl A5HSASU HISEe1L 4L :
Question ID:
Marks 1 10093061
No Options Details Correct Option
1 | Flexibility YIAHdl
2 | Cohesion R
3 | Communication HJ IR
4 | Above all GURUSd dHIH v




Q.50 What is the meaning of Probation in the context of Correctional Social Work practice?

YURIHS UHLCsS 1 Yelloll AeetHi WALLelol w1 9] 82

Question ID:
Marks 1 10093062
No Options Details Correct Option

1 | Itallows eligible offenders to be released from d Ul3 eldlI]el dHeAl UYRL U YL & d Ued
prison before the completion of their full
sentence, with supervision and conditions.

2 | Itis a sentencing option where an offender d uls Yletl [ASAL & 2L eldLR BEAHL %Sl & v
serves sentence within the community under
supervision, often instead of going to prison.

3 | Itis a conditional release for offender from d eldllRel HYRL uowl Yl Ul d usal sgHiel @
prison before the end of a full sentence.

4 | Above all. GUUSd dH 1M

Q.51 Who is the author of ‘Research Methodology - Methods and Techniques’?

(RUA NS - AUSU WS 25618 o1l Aus 513 B?)

Question ID:
Marks 1 10093063
No Options Details Correct Option
1 | Joseph Thomas (¥1As UlHY)
2 | D.K. Lal (Sl. 5. d14)
3 | Ram Ahuja R AIE1)
4 | C.R. Kothari & Gaurav Garg (AL AR, 51611 el Il 219)) v
Q.52 Which of the following is true related to research objective?
(53 «(1 At Mgl 2llued U Al8l uildd B7?)
Question ID:
Marks 1 10093064
No Options Details Correct Option
1 | Realistic (dlkdlas)
2 | Time-constrained (AU HYLled)
3 | Measurable (HIdl sy dd)
4 | Above all. (GURLSd dHIH) v




Q.53 What is common among Adult Learners?

(2 Yud dstl (Ruue RIHHI UM B?)

Question ID:
Marks 1 10093065
No Options Details Correct Option
1 | Adults have lived longer, seen and done more, (Yud die=ll @lsl Gloll dHY Yl Pl 8, dy %l
have the tendency to link their past
experiences to anything new and validate new
concepts based on prior learning. ‘
2 | Adults are more resistant to change. (Yud diell dlsl ulddel Hie ay uldRlus sly ¢
3 | Adults feel the need to take responsibility for (Y c¥eil @151 dHetl )cet e [«R1I] HIS %
their lives and decisions and this is why it's
important for them to have control over their
learning.
4 | Above all. (BURLStl dHIM) v
Q54 W variable is the variable researcher manipulates or vary in an experimental study to explore
its effects.
——— U A et qAlus B B defl o] AN UL HIR UIRILBLS AeAIRYHT FRE1R 52 B el
Question ID:
Marks 1 10093066
No Options Details Correct Option
1 | Dependable variable ([l ue)
2 | Independent variable (AdA U4) v
3 | Hypothesis (YddRBLL)
4 | None from the above (GURLsdH1el 519 «lel)
Q.55 Which among the following method research is often used in the behavioural, health, and social sciences,
specially in multidisciplinary settings and complex situational or societal research?
(1At 1] 58 Ueg(d ielldetoll GUALIL ddQS1L, WA W YIHLCSS (ASLAHE, WY 53 WSRAIHISIA ¢
Question ID:
Marks 1 10093067
No Options Details Correct Option
1 | Single method research (546 Uegld delleel)
2 | Independent method research (edAA Ueg[d Hellue)
3 | Mixed methods research ([H Ueg[dudl v Qlleet) v
4 | All above (BURLScl dHIH)




Q.56 Which sampling method relies on the non-random selection of a predetermined number or proportion of

units?

(59 otHetl Usg(d Yd =t [Rd vl wedl 5ol UHIRle] (G4e1-3e5H U] U A 1412 AW §7)

Question ID:
Marks 1 10093068
No Options Details Correct Option
1 | Probability sampling method (deildell eiHeil Uegld)
2 | Quota sampling method (5912l eAHell Useg[d) v
3 | Cluster sampling method (5422 elyeil Useg[d)
4 | Multi-stage sampling method (He2l-% «AYell Usgld)
Q.57 Which among the following allows researcher to quantify or categorize aspects of the subject under

investigation, serving as the foundation for data collection and analysis?

(53 Aot 1] A2NUSA dAULY 86Ulell (AUl Ul 1A Hiudl adl dd{lsd sclef]l 1ol 10 B, 2B 3el

Question ID:
Marks 1 10093069
No Options Details Correct Option
1 | Research topic (delldel [aNy)
2 | Research design (delldet [sa1eet)
3 | Variables (udl) v
4 | Sampling (c1¥etl ddll)
Q.58 Which among the following is tool and technique of data collection?
(53 ollAetHiel] Hiled] AAsq Al WA dseils B?)
Question ID:
Marks 1 10093070
No Options Details Correct Option
1 | Interview (82, / U[Sddld HELsld)
2 | Observation [{GEAETED)
3 | Questionnaire (usllddl)
4 | Allabove (GURI S dHIM) v




Q.59 Which are the important measures of central tendency in descriptive statistics?

(ABlet LS WSS et A lell Hecd YRl HIUES 5L B?)

Question ID:
Marks 1 10093071
No Options Details Correct Option
1 | Median (HRUS)
2 | Mode Hls)
3 | Mean (dRUQL)
4 | All above (BGURLSc dHIM) v
Q.60 What is significant of Positivism and Post-positivistic approach to research?
(2} d2ltel HI2 USRIMHSALALE Mol Gri-USRIMHS W [G1He] Hecd B?)
Question ID:
Marks 1 10093072
No Options Details Correct Option
1 | Positivism and Post Positivist approach (delltel Hie ASRIHSALE Wl YSRIHSALALE]
to research are the best examples
of quantitative Vs qualitative research
methodology.
2 | Post-positivism is a refined method that (USIRAHSALALE 1S Qleg Uegld & % SIOURL Ugg,
acknowledges biases in whatever method is
being chosen.
3 | Post-positivism is more interpretive. (USIRAHSA e dy HeeeedlHS ©))
4 | All above (BGURLScl dHIM) v
Q.61 Which among the following is the characteristic of positivist research methods?
(53 ollAetiuiefl USRI S ALt Ueg[dile] deaiel 87)
Question ID:
Marks 1 10093073
No Options Details Correct Option
1 | Generalizability (UM L] $0L)
2 | Empirical observation (UAIILLHS vd el Sel)
3 | Objectivity (GeQudl)
4 | All above (GURLSc dHIM) v




Q.62

Case study method is also termed as --------------------- .

(R TER) RV (3 —— a3 Ul Al Hi #1d B.)
Question ID:
Marks 1 10093074
No Options Details Correct Option
1 | Social Unit (ALHL[CsS BsH)
2 | Social Study (AL L[S ALY
3 | Social Microscope (ULHL[ss YaHeels UA) v
4 | All above (BURISd dHIM)
Q.63 How Information and Communication Technology (ICT) is important in doing research?
(20dt A HIfEd] wa AR 2UlUdSIR 2541161 (ICT) 3ed] Hecdysl 87?)
Question ID:
Marks 1 10093075
No Options Details Correct Option
1 | Digital tools for researchers that can help (datlusl Hie [slesed Altell % dHa dHeil vl
them to explore their research arena in an
effective way.
2 | ICT can help a researcher to sort, classify and (ICT d2Lltsel [ANY A1 Ho{[td dHIH HLllSl
store all the literature related to the topicin a
well-defined manner so that it can be used or
referred to when required.
3 | Examples of ICT tools are SPSS (Statistical (ICT Ulueilell BelsWUL SPSS (Statistical Packe
Package for Social Sciences), R studio,
Minitab, Microsoft Excel and NVivo,
VOSViewer etc.
4 | All above (BURLSA dHIH) v
Q.64 How ICT is benefiting to Teachers while doing research?
(3dil 2l 2Nt 5l dwa (2Uetsla ICT sluel s21dl 28] 8?)
Question ID:
Marks 1 10093076
No Options Details Correct Option
1 | ICT (particularly the internet), gives teachers ~ (ICT (WLd 5ol 9e22¢12), [21&15la HilSdl, ¥lde
access to a wide range of information,
historical sources and media types, which
would otherwise not be readily available.
2 | The use of computer-mediated (M1Ad 1O AU ] Ul Ulsd s1fe-Hele| Hell
communications (CMC), including online
discussion groups, allows teachers to identify
misconceptions in pupils’ historical thinking,
which might not otherwise have been
apparent in more structured classroom
discussions.
3 | Only A is true while B is wrong. (65 AU & 2RIIRB UWIE 8.)
4 | Both A and B are true. (A el B 0ol YIUL 8.) v




Q.65 What is the meaning of ‘Reasoning’?

(d& ol wiel 9] B?)

Question ID:
Marks 1 10093077
No Options Details Correct Option
1 | Reasoning refers to the cognitive process of  (d$ 326 [dYRdletl, YHAd Al ol HilSdleAl dl
thinking, understanding, and making logical
sense of information.
2 | Reasoning involves the ability to draw (dSHL Guaod, Y1dl, Hilsdl Ael Yd Stleieil Al
conclusions, solve problems, make decisions,
and evaluate arguments based on available
evidence, information, and prior knowledge.
3 | Reasoning is a fundamental aspect of human  (d$ 2 Hleld of[¢geil HNeld UlY & wlel R)deieil
intelligence and is essential for critical thinking
and decision-making in various aspects of life.
4 | All above (BURLSd dHIM) v
Q.66 Which among the following is not a part of qualitative data?
(5] o{1Aet o] QLIS S2lell 81191 «1efl?)
Question ID:
Marks 1 10093078
No Options Details Correct Option
1 | Percentages (2sldiRl) v
2 | Motivation QRN
3 | Beliefs (Ml L)
4 | Experiences (¥ej@idl)
Q.67 Which among the following is Mixed Method Research?
(53 oflAet el (18 ueg[d A2llbed 87?)
Question ID:
Marks 1 10093079
No Options Details Correct Option
1 | Exploratory Sequential Design (Ulus slHs [shleel)
2 | Convergent Parallel Design (5ed% 2 HHIdR [SHLE-l)
3 | Embedded Design (¥SS [SA1E-1)
4 | All above (BURLS dHIM) v




Q.68

The purpose of exploratory study is:

(UHeAlHS AR Y] Ed B:)

Question ID:
Marks 1 10093080
No Options Details Correct Option
1 | To make a precise formation of the problem. Y1554 UHRXUL=1] Y11 84l
2 | To determine whether it is feasible to attempt ~ @U[Uell YA LY 5L AR & 5 ol d «155] 5.
the study.
3 | To generate new ideas. oidl [dYR] BUg Sl
4 | Allabove GURLSd dHIM v
Q.69 Which among the following is not the part of Non-Probability Sampling?
(5] o{1Aet el ollet-Yl (0 [62] Aru(Earef) 61191 o12f]?)
Question ID:
Marks 1 10093081
No Options Details Correct Option
1 | Quota sampling (sdlel Axyldar)
2 | Accidental sampling (vlsuseed drulday)
3 | Stratified Random sampling ([2518S Re5H A [€2l) v
4 | Purposive sampling (EqUBL AxU[daL)
Q.70 Which among the following is a characteristic of a Research Report?
(At Mgl 59 Alltel wEdldsi] dlelQsdl 87?)
Question ID:
Marks 1 10093082
No Options Details Correct Option
1 | Itis non persuasive as a form of (d YellcdelRetl Y d[S5 YRS «12l])
communication.
2 | Itis narrative but authoritative document. (d dBlellcHS U [USd exdld 6.)
3 | Itis a simple, readable and accurate form of  (d HeLlcUdElRe} 35 U0, AL ASIA A el 5
communication.
4 | Allabove. (GURASd dHIH) v




Q.71 Which among the following is not the type of Research Report?

(5] o{1Aet el 2Ntet WSleell USIR «1eil?)

Question ID:
Marks 1 10093083
No Options Details Correct Option
1 | Research article (delldel qul)
2 | Technical report (esl-se vedld)
3 | Summary report (HIRIRL A&dld)
4 | Yearly report (dliNs wedld) v

Q.72 When dependent and independent variables are interval or ratio level measures then
analysis is used for measuring relationships and testing hypothesis.

(R WL(Bd WA i Y] BdRAd Ml YRR el HIUES 1A B, AR

CEANEEIREE

Question ID:
Marks 1 10093084
No Options Details Correct Option
1 | t-test (t-uzleisr)
2 | Correlation (leuly) v
3 | Chi-square test LR UL
4 | All above (GURISd dHIN)
Q73 W e is used for large scale formalized surveys.
C— Hlel Ui wluALRs ydaiel HIR duid 8))
Question ID:
Marks 1 10093085
No Options Details Correct Option
1 | Clinical interview ([s4lel54 po2cy))
2 | Focused interview (5legd ©e2cy)
3 | Structured interview (RSUS P2 v
4 | Unstructured interview (AR SUS Po2rR])
Q.74 The questions that are applicable only to sub groups of the sample is --------------
(GEGIEIRVEIR Ol B TSRV TR VET) [— 8.)
Question ID:
Marks 1 10093086
No Options Details Correct Option
1 | Rating scale (RI22L 4)
2 | Open ended questions (WEELL Addlonl usll)
3 | Contingency questions (ALSs[RHSs ull) v
4

Matrix questions

RIEETRENN




Q75 W - is done to find out the feasibility of conducting a research.
— ANdel slel b lefl ARUAL el HIZ s w1d B).)
Question ID:
Marks 1 10093087
No Options Details Correct Option
1 | Post test (Rl uel)
2 | Pilot test (ulddle ulesl) v
3 | Pretest (URleRl uedl)
4 | Analysis and interpretation (CRNEENERNDEEE)
Q.76 Which among the following is not a non parametric test?
(cf1Aet 1] sU) oflel URAN S 222 <12dl?)
Question ID:
Marks 1 10093088
No Options Details Correct Option
1 | Chisquare (Ul sdR)
2 | z-test (z-2R) v
3 | Mann Whitney U test (Het celeqdl Y eR)
4 | Kolmogorow Smirnow test (S1HIARL [l 2R)
Q.77 In ethnographic studies case study was first used by
R S PRI RS RS YIREI P N 1VET) RIIRT) (VLT3 Y p— GIRLSAMI w L) &d).)
Question ID:
Marks 1 10093089
No Options Details Correct Option
1 | Frederic Le Play (5S[Rs € )
2 | Burgess GRE)
3 | Znaniecki (etletlaisl)
4 | Herbert Spencer (€02 WeUR) v
Q.78 Action research is categorized into five types by
(EPTRIENCEE GIRLUIR USRI aoflsd sRaMi 24144 8.)
Question ID:
Marks 1 10093090
No Options Details Correct Option
1 | R. Covar (MR, sldR) v
2 | M. S. Gore I, WA AR)
3 | Pearlman (UdHe1)
4 | Richmond (RYUS)




Q.79

({1 At iefl Sl U5y vils AlRIAG RYA' il Auis B?)

Who among the following is the author of ‘Practice of Social Research’?

Question ID:
Marks 1 10093091
No Options Details Correct Option
1 | Allen Rubin (st d[041)
2 | LalDas [CTCIAEY) v
3 | Earl Babbie (M4 Kol
4 | C.R.Reddy QL AHR.3E)
Q.80 The research that involves creative and evaluative processes is --------------------
(A%ellcs Wl Yeuisel Ulsa)ell 1AL 53 UMY ~rmmrmemmeee 8.)
Question ID:
Marks 1 10093092
No Options Details Correct Option
1 | Experimental research (UIAL[LS Helltet)
2 | Intervention study (S U WY 1Y) v
3 | Action research (EDTEENEED
4 | Descriptive research (AARlellcH S Hlltet)
Q.81 The factor which is influenced by other factor is
TRV ETATE L VT (ST RV EYATY) P — 8.)
Question ID:
Marks 1 10093093
No Options Details Correct Option
1 | Independent variable (AdA U4)
2 | Confounding variable [ERETEITREE))
3 | Dependent variable (AL[8ld ¥4) v
4 | Intervening variable (Heddl ¥d)
Q.82 Selection of group of elements for the study is called
(HOULY HI2 dedlotl gelefl U e e 5&dIHi w1d 8.)
Question ID:
Marks 1 10093094
No Options Details Correct Option
1 | Variable (ue)
2 | Population (ddl)
3 | Sample (e1¥etl) v
4 | Research design (delldst [Savleyed)




Q.83 What is known as ‘Blue Print’ in social research?

(2] ULHL[ws AN sAHi 'og (Use' d]3 AW B7?)

Question ID:
Marks 1 10093095
No Options Details Correct Option
1 | Sampling (clHellS5RL)
2 | Research designs (deLltet [S1ee) v
3 | Data analysis (Sel [asduwl)
4 | Report writing ([Rule duet)
Q.84 Which among the following is true in the context of Data Coding?
(53 321 51(33etl Aol oA Ml U1 B?)
Question ID:
Marks 1 10093096
No Options Details Correct Option
1 | Coding refers to the process of assigning (511591 A gl lod]o] vI8] Ydl A Udlsl vludl
numerals or other symbols to answers.
2 | Coding decisions should usually to taken at ~ (S1[S3letl [«AQRIL UMY d Ysllddledl (S8 (et
the designing stage of the questionnaire.
3 | Coding is necessary for efficient analysis and  (51[S91 SIRA&H [cAfNRL HIe e & Wel dell IR
through it the several replies may be reduced
to a small number of classes which contain
the critical information required for analysis.
4 | Allabove (BURUSA dHIM) v
Q.85 What is common of Standard Deviation from the given below statements?
(=11 106l (gl UHILIYd [duEsta AU Q) B7)
Question ID:
Marks 1 10093097
No Options Details Correct Option
1 | Itis most widely used measure of dispersion  (d #ll=ll [d&lUs] Yl ay GUYLIAHI deallg HIY ¢
of a series.
2 | Itis commonly denoted by the symbol ‘o’ (d UM RAd ‘0’ Udls ([MHL dR[S GRURAIHLR
(pronounced as sigma). ‘
3 | Standard deviation is defined as the square-  (HlelS [dUGelel [AAEeA]ol] AIlol] HIRULUAL LM
root of the average of squares of deviations,
when such deviations for the values of
individual items in a series are obtained from
the arithmetic average.
4 | All above (BURLSt dHIM) v




Q.86 Which word is the odd man out?

(53] 2104 il A6E] 52l W2 B?)

Question ID:
Marks 1 10093098
No Options Details Correct Option
1 | Important (HEcdyRl) v
2 | Trivial (d09)
3 | Insignificant (e1o1Y)
4 | Unimportant (CETERSTE))
Q.87 CUP : LIP :: BIRD : ~=—=m-mm-
CLTEC CRERUL: | p— )
Question ID:
Marks 1 10093099
No Options Details Correct Option
1 | GRASS CTEN)
2 | FOREST (F14)
3 | BEAK (QINRIN) v
4 | BUSH )
Q.88 Tiebreaker is an additional contest carried out to establish a winner among tied contestants. Choose one

situation from the options below that best represents a Tiebreaker.

LSR5 W WS delRe(l 2 B % 21e5 AAE L WL SIHI [ABdl @M sal HIZ ML 241 . {1 2410d]

Question ID:
Marks 1 10093100
No Options Details Correct Option
1 | Athalftime, the score is tied at 2-2 in a football (€1521OH UHA, sewld HJAHL SR 2-2 & ¢RR1o4:
match.
2 | RCB and KKR each finished at 140 all out. (RCB el KKR el 140 U A16x41Ge Uil.) v

3 | The umpire tosses a coin to decide which (59 elH uedl o2l 528l d «is5] sdl Hie x|

team will have bat first.

4 | Serena and Maria have each secured 1setin (Uil ¥l HL[RAUL WA RJUAHL 1-1 2 HAOR| 8

the game.




Q.89 The car dealer found a tremendous response for the new XYZ’s car booking, with long queues of people
complaining about the duration of business hours and arrangements. I1. Arrangement should be made
for more booking desks and increase business hour
(1dl XYZ 512 04531 412 SIR SldRel exd UldAle HOUl, BUI lSlefl diod] sdIR] S1MSI%ell 5EL1S5) WA <

Question ID:

Marks 1 10093101

No Options Details Correct Option

1 | Ifonly I follows (] 5 | A1 89)

2 | Ifonly Il follows (L §5ct 11 ¥ AR O) v

3 | If either I or Il follows (OS] 1YL 1T Ao AR &)

4 | If neither | nor Il follows (L1 5 11 Aef ARl =12])

Q.90 Paw : Cat :: Hoof ; ---------—--

(TR CYCT [EER VY Sy— )
Question ID:

Marks 1 10093102

No Options Details Correct Option

1 | Horse (eLlsl) v

2 | Lamb [CENEE)

3 | Elephant (el4l)

4 | Tiger (dale)

Q.91 ) ) ) )

Identify and correct the grammatical error in the following sentence:
‘Vikas don't like to attend lectures in the college."'
Identify and correct the grammatical error in the following sentence:
‘Vikas don't like to attend lectures in the college.'
Question ID:

Marks 1 10093103

No Options Details Correct Option

1 | ‘Vikas do not like to attend lectures in the ‘Vikas do not like to attend lectures in the colleg v

college.’

2 | ‘Vikas doesn't like to attend lectures in the ‘Vikas doesn'’t like to attend lectures in the colle

college.'

3 | ‘Vikas did not like to attend lectures in the ‘Vikas did not like to attend lectures in the colleg

college.'

4 | ‘Vikas don't liking to attend lectures in the ‘Vikas don't liking to attend lectures in the collec

college.'




Q.92

A Comprehensive Passage:

We are all the citizens of a country which can rightly boast of a proud past, a past, a culture in which there
was never any discrimination on the basis of sex. Woman in this country has always been looked upon as
more important.

A Comprehensive Passage:

We are all the citizens of a country which can rightly boast of a proud past, a past, a culture in which there

Question ID:
Marks 1 10093104
No Options Details Correct Option
1 | The act or process or an instance of naming.  The act or process or an instance of naming.
2 | Aninternational system of standardized New  An international system of standardized New Le
Latin names used in biology for kinds and
groups of kinds of animals and plants.
3 | Bombay is named to Mumbai is the example =~ Bombay is named to Mumbai is the example of
of nomenclature.
4 | All above. All above. v
Q.93 ]
A Comprehensive Passage:
We are all the citizens of a country which can rightly boast of a proud past, a past, a culture in which there
was never any discrimination on the basis of sex. Woman in this country has always been looked upon as
more important.
A Comprehensive Passage:
We are all the citizens of a country which can rightly boast of a proud past, a past, a culture in which there
Question ID:
Marks 1 10093105
No Options Details Correct Option
1 | ltis the act of killing a fetus It is the act of killing a fetus
2 | Itis the act of causing a miscarriage. It is the act of causing a miscarriage.
3 | ltis the act of caring a fetus, or controlling a It is the act of caring a fetus, or controlling a mis v
miscarriage.
4 | The feticide frequently refers to a criminal The feticide frequently refers to a criminal offen:
offense as per the Law.




Q.94

A Comprehensive Passage:

We are all the citizens of a country which can rightly boast of a proud past, a past, a culture in which there
was never any discrimination on the basis of sex. Woman in this country has always been looked upon as
more important.

A Comprehensive Passage:

We are all the citizens of a country which can rightly boast of a proud past, a past, a culture in which there

Question ID:

Marks 1 10093106
No Options Details Correct Option
1 | The Act, 1994 states that the determination of The Act, 1994 states that the determination of tt

the sex of an unborn child is illegal.
2 | The Pre-Natal Diagnostic the doctor, the The Pre-Natal Diagnostic the doctor, the womat

woman and the motivator is three years

imprisonment.
3 | The fine of rupees ten thousand and The Pre-Natal Diagnostic the doctor, the womal

suspension of the doctor’s licence.
4 | All above. All above. v

Q.95 .
A Comprehensive Passage:
We are all the citizens of a country which can rightly boast of a proud past, a past, a culture in which there
was never any discrimination on the basis of sex. Woman in this country has always been looked upon as
more important.
A Comprehensive Passage:
We are all the citizens of a country which can rightly boast of a proud past, a past, a culture in which there

Question ID:

Marks 1 10093107

No Options Details Correct Option

1 | Kanya Pujan Kanya Pujan

2 | Kumari Puja Kumari Puja

3 | 'Kanya Pujan’ is true but 'Kumari Puja’ is 'Kanya Pujan' is true but 'Kumari Puja' is wrong

wrong

4 | Both 'Kanya Pujan" and 'Kumari Puja" are true Both 'Kanya Pujan" and 'Kumari Puja" are true v

Q.96 Which among the following is characteristic of Computer?
(53 <flAst el 5124224 411 8?)

Question ID:

Marks 1 10093108

No Options Details Correct Option

1 | Diligence (Hd)

2 | Accuracy (UlsAULY)

3 | Versatility (adlelgel)

4 | All above (BUReLL v48l) v




Q.97 Which among the following is providing facilities of data sort, hide, and locate specific information—like
identifying top-performing sales regions within seconds.

(53 1A= Hie]l 321 AT Scl, Yuldl wa ALssU HIlEd] 2Mucisfl el Yl uld -1 3 As-S\ui A

Question ID:
Marks 1 10093109
No Options Details Correct Option
1 | Excel (¥sd4) v
2 | Window (ldesl)
3 | Power Point (UldR Ul$eR)
4 | None of the above (GURLsdH 1] 519 )
Q.98 A - is a contained area—like a picture within a picture—with its own menus and buttons specific
to that program.
C—— W WS qULUAR & B - BH S RlnAs{] viers] RlAA - dstl Uldlell Aojadl wa d WA HI [dle
Question ID:
Marks 1 10093110
No Options Details Correct Option
1 | Window (ldesl) v
2 | Menu (M)
3 | Trackpad (25US)
4 | Desktop (5¥selu)
Q.99 Which system is communicating with Computer?
(56 ReH 512422 18 dlddld 53 261 8?)
Question ID:
Marks 1 10093111
No Options Details Correct Option
1 | Mouse (HIBA)
2 | Keyboard (5luls)
3 | Operating system (IUR[23L [HeH) v
4 | Monitor (Hlle12)




Q.100 What is home to Basic Input / Output System, the very minimal piece of software that comes with a
computer?

(512422 U1 w[ddl el wletl A152AR Qs Beiye / wIG2Y2 [HeHs] €2 | 87)

Question ID:
Marks 1 10093112
No Options Details Correct Option
1 | Hard Drive (€LS SIya)
2 | Mother Board (HHR !lS) v
3 | Computer (512R)
4 | Central Processing Unit (de2d Ul (AL Y[=1e)




